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{X=XO+R* cos(D)
Y=YO~R *sin(D
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X0, YO, R, R EHERME, TELBOEN .

o, BEF

10 HGR: HCOLOR =3 60 YC=YO

20 INPUT XO0O,YOsR 70 HPLOT XC,YC

30 PI=3,14159 80 FOR I=0 TO 2+PI STEP 3
40 P=PI, 7180 + P

50 XC=X0O+R 99 X=XO+R*COS (I)



100 Y=YO+ R SIN (D) 120 NEXT 1
110 HPLOT TO X,Y 7 130 GOTO 20
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10 HGR: HCOLOR=3 Z)+* P STEP 3+P
20 INPUT XO,YO,R,GC,GZ 80 X=XO+R*=COS (1)
30 P=3,14159,7180 50 Y=YO-R=*SIN (D)
40 XC=XO0+R+*COS (GC=*P) 100 HPLOT TO X,Y
50 YC=YO-R+*SIN (GC*P) 110 NEXT I
60 HPLOT XC,YC 120 GOTO 20
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10 HGR: HCOLOR=3 100 HPLOT XC,YC
20 INPUT XO,YO,R,N 110 FOR I1=D TO D+3 =« P/4 STEP
30 PI=3,14159 w
40 W=PI/180 120 X=XO+R*COS (1)
50 P=360/N+W 130 Y=YO+R*SIN (D
60 FOR K=0 TO N-1 140 HPLOT TO X,Y
70 D=K=#*P 150 NEXT I
g0 XC=XO+R=*COS (D) 160 NEXT K
96 YC=YO+R*SIN (D) 170 GOTO 20
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P=360/N+*W
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F=P/15: G=2*P/15
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D=K*P+GC*W
XC=XO+R*COS (D)
YC=YO-R*SIN (D)
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FORI=DTOD+QSTEPW
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HGR: HCOLOR=3
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PI1=3,14159

P=PI,7180

XC=X0+A

YC=YO

HPLOT XC,YC
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150 Y=YO-R=*SIN (DD

160 HPLOT TO X,Y

170 - NEXT 1

180 1=D+Q+F

190 X, =XO+R =CO0OS (D)

200 Y, =YO-R=*SIN (I)

210 HPLOT X,,Y1

220 FORJ=D+Q+F TO D+
+G STEP W

230 X=XO+R=*COS (IH

240 Y=YO-R+*SIN (1)

250 HPLOT TO X,Y

260 NEXT J: NEXT K

270 GOTO 20

FOR T=0 TO 2+ PI STEP 3+ P
X=X0+A=*COS (T)
Y=YO-B+SIN (T)

HPLOT TO X,Y

NEXT T

GOTO 20
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10 HGR: HCOLOR=3 80 FOR I=GC=*P TO (CC+G
20 INPUT XO0,Y0,A,B,GC,GZ Z)+«P STEP 3+P
30 PI=3,14159 90 X=X0O+A=*COS (D)
40 P=PI/180 100 Y=YO-B+=SIN (D)
50 XC=XO0+A+*COS(GC+*P) 110 HPLOT TO X,Y
60 YC=YO-B=*SIN(GC*P) 120 NEXT I
70 HPLOT XC,YC : 130 GOTO 20
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M=0
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80 IF M=0O THEN HPLOT X,Y

FOR T=-4TO 4 STEP 0.1 90 M=1

X="0O+H*2+PxTxT
Y= 0O-H+2#PsT

100 HPLOT TO Xx,Y
110 NEXT T

IF X030 OR 21 >250 OR Y<I 120 GOTO 29
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10 HGR: HCOLOR=3 20 ORY>180 THEN M=0:GOT
20 INPUT XO,YO,A,B O 110
30 M=90 80 IF M=0 TNEN HPLOT X,Y
40 FOR T=-1,4 TO 4,6 STEP 90 M=1

4,05 100 HPLOT TO X,Y
50 X=X0+A/C0OS (D) 110 NEXT T
60 Y=YO-B+«TAN (T) 120 GOTO 20

70 IF X<30 OR X>250 OR Y<
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3.14159=P1

P1/i8o= P

L4030 = X

HPLOT XC N

FOR 1=0
70 2+P1
STEP 3+p

140+20#05(1)3 X |
P4 +30*SINT)? Y

Hoti]

LPLOT TOX Y

l

NEXT I

RE——

e
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{

F14i59/180 ? P
GZ/Nep 2R
140+ 30+ COS(#PINC
Q0 ~ 304 SIN(GLRDIIE

HPLOT XCrc

FOR K=1
T0 N

K*® =2DT

MO+30»((OS(H3DT4
GC*FI+HDTHSINH>
DT+6C+P) = X
GO -Ip% (SINiH# DT ¢

6L P )~ He DT+(050Hy
DT+6Lep) >y

HPLOTTOXY|
i B

F1-13 #HFALEFER

) FAEF:

HGR: HCOLOR =3
HPLOT 100,96 TO 180,96
HPLOT 140,56 TO 140,136
GOSUB 170

INPUT GC,GZ,N,H
P=3,14159,/180: Q= GZ /N+*P
XC=140+30* COS(GC+*P)
YC=96-30+ SIN(GC * P)
HPLOT XC,YC

FOR K=1 TO N
DT=K=*Q

X=140+30 » (COS (H «DT
+GC+*P)+H+«DT=* SIN (H
*DT+GC*P))

Y=96-30+ (SIN (H*DT+ G

C+P)-1I*DT+COS (H+»DT

+GC=*P))

HPLOT TO X,Y
NEXT K

GOTO 50
P1=3,14159:P =PI /180
XC=140+30:YC =96
HPLOT XC,YC

140
150
160
170
18¢
190
200
210
220
230
240
250

X=140+30+* COS (1)
Y=96+30*SIN (I)
HPLOT TO X,Y
NEXT I

RETURN

FOR 1=0 TO 2-PI STEP 3P
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{ X=XO+R#(T~SIN(T))
lY=YO-R+(1-COS(T) B 1-14 PR
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2. HREF

10 HGR 60 X=XO+R+*(T=SIN (T))
20 INPUT XO>YOsR 70 Y=YO-R=*(1-COS (T))
30 PI=3,14159:P=PI/180 80 HPLOT TO X,Y

40 HPLOT X0,YO 90 NEXT T

50 FOR T=0 TO 2+ PI STEP 100 GOTO 29
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\ A\ ) msmanssoEnT.
QP ch,\/) X=XO+(Ri+R2) * cos(T)

~Rz¢ cos(—R—’P%;R-2 «T)
y Y=YO-(R;+Rz2)*SIN(T)
T FRy e sn\uR———l;zRz . T)
C2 )MARHIRZHM, R BIFIRHBBH ¥,
2. BER
10 HGR: HCOLOR =3 60 HPLOT XC,YC
20 INPUT XO>YOsR:sR: 70 FOR T=0TO Pl STEP P
30 PI=3,14159:P =PI 7180 8 X=XCO+(R;+Rz)*COS (T)
40 XC=XO+R, -R:*COS((R,+R2) /Ry,*
50 YC=YO T)
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90 Y=YO-(R;+Rz) +«SIN (T)
+R2*SIN((R,;+R2)/R2+T)

100 HPLOT TO X»Y
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1, BFiiH
(1) BBV . BHEPE—EA (X0 YO
fessmEE R, RRXUSEEREEFABES, W
AR IR N R
C2) LHHHERNIR, KRB AR MM NGC,

kARG L, NRIELSB MPRKRDBIRD T

110
120

NEXT T
GOTO=20

f X=ROcosb
! Y=ROsin®
2. FRERF B 1-16
10 HGR: HCOLOR=3 130 Y=YO-RO=*SIN (T)
20 INPUT XO,YO;R1,R2,GC, 140 HPLOT TO X,Y
GZ,N 150 NEXT K
30 P=3,14159,7180 160 GOTO 20
35 GOSUB 170 170 XC=XO+R1
40 DG=(GZ-GC) /N 180 YC=YO
50 DR=(R2-R1)/N 190 HPLOT XC,YC
60 XC=XO+R1*COS(GC+*P) 200 FOR 1=0 TO 2+3,14159 STE
70 YC=YO-R1*SIN(GC*P) P3+P
80 HPLOT XC,YC 210 X=XO+R1*COS (I)
90 FOR K=1 TO N 220 Y=YO+R1+SIN (D
100 T=(GC+K=*DG)*P 230 HPLOT TO X»Y
110 RO=R,+K+*DR 240 NEXT I
120 X=XO+RO=*COS (T) 250 RETURN
E. HMEXWRR y
1. BN ~
(1) WEREREOBRETBRN
P =af P(e.&)
(2) BRBHAIR, W HIA, BRANTH, ¥k ¢
KHHEAMIRRELUE, BHITRN ] .
{ X =Reos(TH) 5 %
l Y =Rsin(TH)

(3) BFHNBASEIEHA, REHEIN,

2. FEREP
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10 HGR: HCOLOR=3 80 FOR TH=0TO N=*T STEP

20 HPLOT 40,90 TO 200,90 ST
30 HPLOT 120,11 TO 120,170 90 R=A+TH
40 INPUT A>N 100 X=XO+R=*COS (TH)
50 PI1=3,14159:ST =3+ PI,7180: 110 Y=YO-R+*SIN (TH)
T=2+PI 120 HPLOT TO X,»Y
60 XO0=120:YO =90 130 NEXT TH
70 HPLOT XO0,YO 140 END
A8 R &

B AERARE AR W AEERF (2 )

40
2
80 !
P, v \
sz ey
(X0.Y0)
7 /64
39
]
/ 182,50)
12 3%y ”

E1-13 HE-FEHE
1., @A
CL) s RERg ek S R R, mEL- 1855,
C2) WBEERY, FRBHHEHALTEHOT AL, BIFS0~170
(3 D)MERFLT, SHMHAK LAEE— AN0H3ILiTe
BHBIBTE SREROZLE Y2 DR, HAEA RN S0EEHZ2%, MPXX. D
J=4: ok F LY )
’IDR= 29.895796-0,2199 * R » SIN(T)
X=XO+H=*SQR(DRA2-(R* COS(THA2)
l Y=YO-R+* SIN(T)
QX,Y) KEIM s 4R K
(DR= 29,895796-0,2199 * R+ COS(T)
1 X=XO+H=*SQR(DRA2-(R*SIN(TYA2)
Y=YO-R+*SINCT)

2 .FRF 20 READ X1,Y1,X2, Y2,N,V.
10 HGR2 ' H
15 FOR L=1 TO ¢ 25 DATA 15,65,150,65, 6,0,1
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30
35
40
45
50
55
60
65
70
79
80
85
90
95
100
105
110
115
120
125
130
135

140
145

150
155
160
165

170

175
180
185

DATA 170,65,259,65,4,0,1
DATA 15,150,150,150,6,0,1
DATA 82,183,82,117,3,1,0
DATA 82,76,82,10,3,1,0
DATA 215,107, 215, 10,4, 1,0
GOSUB 320

NEXT L

FOR F=1 TO 2

READ XO, YO, R

DATA 215,65,30,82,150,20
GOSUB 415

NEXT F

DIM X18),Y(18®)

FOR 1=0 TO 17

READ X

NEXT 1

FOR I=0 TO 17

READ YD)

NEXT 1

HPLOT X(03,Y(®

FOR I=1 70 18

IF 1=9 THEN HPLOT X
(1, YD)

IF I=13 THEN 155

IF I=14 THEN HPLOT X
), Y (D

IF I=18 THEN 175

HPLOT TO X(IJ),Y(I)
NEXT 1

DATA 30,58,7014,62,102,105.
2986,134,134,30,30, 30, 134, 13
4, 30, 30, 187,9629, 195, 235, 242,
037

DATA 3s, 35, 20, 20,35,35, 95,
95, 35,120, 120,180, 180, 120,52,2
0520,52

FCR M=1TO 2

READ XO,YO,R,H

DATA 82,65,30,1,82, 65, 30,

180
196
200

205
210

270
275

280

285
290
295
300
305

310
315
320
325
330

-1
Pl =3.14159:P = P1/180
A=25,679286* P:B=90+P
XC=82:YC=52:HPLOT X
C,YC

FOR T=A TO B STEP P
DR =29,835796-0,2199% R+ S
INCT)
X=XO+H=*SQR(DRA2- (R
« COS(TYA2)
Y=YO~-R*SIN(T)
HPLOT TO X,Y

NEXT T

NEXT M

FOR N=1 TO 2

READ XO,YO,R,H

DATA 82,150,30,1,82,150, 30
~1

P=15,14159/180

C =295,67928 % P:D = 424,3207
« P )
XC=82:YC=177,037 : HPLO
TXC,Yc

FOR T=C TO D STEP P
DR =29.895796-0,2199 * R *
CcCOS(

X=XO+H+*SQR (DRA2~-(R
« SIN(TIA2)
Y=YO-R=*SIN(T)
HPLOT TO X,Y

IF T=D THEN 310

NEXT T

IF T< >D THEN T=D:G
OTO 275

NEXT N

END
S1=INT(X2-X1)/N+0,5
S2=INTUY2-Y1)/N+0.5)
HPLOT X1, Y1
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